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(Total for Question 1 is 6 marks)
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(Total for Question 3 is 7 marks)
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Distance table

A| B C

(a)

Route table
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Question 5 continued
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7 continued

Question

(Total for Question 7 is 6 marks)
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Question 8 continued
®) O <
() Ll
z I
N G(7) 3 (7))
\ = I:E
\ = Z
\ J(8) = i
() Z £
\ 5 E
L 19 £
A(8) > 2
) a0
D(9) \ M(4) > (o)
H(6)
EQ3) [ Key:
B(7) K(12) Early
I/;\' event
/ time
F(6) / Late
L(7) event
time
Diagram 1
L
20

S 6 1 3 0 9 A0 2 0 2 4



8 continued

Question

(Total for Question 8 is 13 marks)
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z r ) t Value
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You may not need to use all of these tableaux.

b.v. y z r s t Value Row Ops
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Question 9 continued

(d)

Tableau S

(Total for Question 9 is 12 marks)

TOTAL FOR PAPER IS 75 MARKS
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